DATE: 5/8/98 AGENDA ITEM # 1000 () APPROVED () DENIED () CONTINUED TO\_\_\_\_\_\_

TO:

JAMES L. APP, CITY MANAGER

FROM:

JOHN R. McCARTHY, DIRECTOR OF PUBLIC WORKS

SUBJECT:

AWARD OF BID - CONSTRUCTION OF VANDERLIP COURT

DPW PROJECT No. 98-29

DATE:

May 18, 1999

Needs:

For the City Council to adopt the attached resolution awarding the low bid for Construction of Vanderlip Court to Viborg Sand & Gravel, Inc. of Paso Robles, California in the amount of \$113,518.00.

Facts:

1. Nine (9) bids were received on May 6, 1999, with the low bid submitted by Viborg Sand & Gravel, Inc. in the amount of \$113,518.00.

2. Funding for this project has been approved in the amount of \$153,000.

Analysis and

Conclusion:

The bids received were reviewed by staff and it is recommended that the bid for Construction of Vanderlip Court be awarded to Viborg Sand & Gravel, Inc. of Paso Robles, California.

Policy

Reference:

None.

Fiscal Impact:

City Council approved funding in the amount of \$153,000 for this project as part of the current Capital Improvement Program. Bid price is \$113,518.00.

Options:

- A. That the City Council award the low bid of \$113,518.00 for Construction of Vanderlip Court, DPW Project No. 98-29 to Viborg Sand & Gravel, Inc. of Paso Robles, California.
- B. Amend, modify or reject the above option.

Attachments: (2)

- 1) Resolution
- 2) Bid Summary

C:\lb\ccagenda\05-18-99\98-29awd

RESOLUT	ION No.	99-
---------	---------	-----

# A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF PASO ROBLES AWARDING THE LOW BID FOR CONSTRUCTION OF VANDERLIP COURT TO VIBORG SAND & GRAVEL, INC. AND AUTHORIZE EXECUTION OF THE CONTRACT

WHEREAS, The bid opening for Construction of Vanderlip Court, DPW Project No. 98-29 was held on May 6, 1999, with Nine (9) bids received; and

WHEREAS, City staff reviewed all bids received and has recommended that the bid be awarded to Viborg Sand & Gravel, Inc. of Paso Robles, California in the amount of \$113,518.00; and

WHEREAS, City Council has approved funding for this project in the current Capital Improvement Program in the amount of \$153,000; and

#### THEREFORE, BE IT RESOLVED AS FOLLOWS:

Section 1. That the City Council of the City of Paso Robles does award the bid for Construction of Vanderlip Court, DPW Project No. 98-29 to Viborg Sand & Gravel, Inc. in the amount of \$113,518.00.

Section 2. That the City Council of the City of Paso Robles does authorize the City Manager to execute the contract with Viborg Sand & Gravel, Inc. for Construction of Vanderlip Court, DPW Project No. 98-29.

PASSED AND ADOPTED by the City Council of the City of Paso Robles, this 18th day of May, 1999, on the following vote:

AYES: NOES: ABSENT: ABSTAIN:	
ATTEST:	Duane Picanco, Mayor
Madelyn Paasch, City Clerk	

12-2

### BID SUMMARY Construction of Vanderlip Court DPW Project No. 98-29

							E SANCHEZ CO. SO ROBLES, CA SAN LUIS OBISPO, CA			SPECIAL SERVICE CONT. PASO ROBLES, CA	
ITEM	DESCRIPTION	EST. QTY.	UNIT	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE
1	Mobilization	1	LS	4,362.00	4,362.00	800.00	800.00	5,200.00	5,200.00	3,300.00	3,300.00
2	Grading	700	CY	7.89	5,523.00		7,700.00	<b>1</b> '	8,400.00	,	8,400.00
3	Rolled Curb	700	LF	15.68	10,976.00		14,000.00		11,900.00		10,150.00
4	Curb & Gutter	600	LF	11.27	6,762.00		9,600.00		7,200.00		9,360.00
5	Transition Rolled Curb to Standard Curb &				.,	20.00	2,000.00		,,200.00	13.00	9,300.00
	Gutter	2	EA	451.00	902.00	250.00	500.00	500.00	1,000.00	240.00	480.00
6	A.C. Berm	60	LF	12.50	750.00	10.00	600.00	11.00	660.00	9.50	570.00
7	3" A.C. on 10 1/2" A.B.	31000	SF	1.59	49,290.00	1.80	55,800.00	1.75	<b>54,</b> 250.00	1.70	52,700.00
8	Concrete Cross Gutter	1	EA	1,793.00	1,793.00	1,720.00	1,720.00	2,000.00	2,000.00	2,640.00	2,640.00
9	Fire Hydrant Assembly	2	EA	2,090.00	4,180.00	2,100.00	4,200.00	2,100.00	4,200.00	1,902.00	3,804.00
10	8" Gate Valves	3	EA	880.00	2,640.00	850.00	2,550.00	780.00	2,340.00	1,128.00	3,384.00
11	8" Class 150 PVC	600	LF	9.62	5,772.00	15.00	9,000.00	18.20	10,920.00	15.60	9,360.00
12	Hot Tap Existing Main	1	EA	770.00	770.00	1,700.00	1,700.00	1,745.00	1,745.00	1,268.00	1,268.00
13	2" Water Service Assembly	5	EA	781.00	3,905.00	475.00	2,375.00	670.00	3,350.00	585.00	2,925.00
14	Standard Manhole	1	EA	1,485.00	1,485.00	2,100.00	2,100.00	2,160.00	2,160.00	2,820.00	2,820.00
15	Drop Manhole	1	EA	1,210.00	1,210.00	3,000.00	3,000.00	2,450.00	2,450.00	4,160.00	4,160.00
16	8" PVC Main	500	LF	15.40	7,700.00	21.00	10,500.00	17.10	8 <b>,5</b> 50.00		14,700.00
17	6" Sewer Lateral	400	LF	12.37	4,948.00	12.00	4,800.00	15.60	6,240.00	22.70	9,080.00
18	Sewer Clean-out	5	EA	110.00	550.00	145.00	<b>725.0</b> 0	421.00	2,105.00	100.00	500.00
	BID TOTALS				113,518.00		131,670.00		134,670.00		139,601.00

## BID SUMMARY Construction of Vanderlip Court DPW Project No. 98-29

	DECHANCE CONST. ARROYO GRANDE, CA			SAN LUIS OBISPO				JOHN MADONNA CONST. SAN LUIS OBISPO, CA			
ITEM	DESCRIPTION	EST. QTY.	UNIT	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE
1	Mobilization	1	LS	1,000.00	1,000.00	7,060.00	7,060.00	11,000.00	11,000.00	2,880.00	2,880.00
2	Grading	700	CY	22.90	16,030.00	17.80	12,460.00	25.00	17,500.00	47.80	33,460.00
3	Rolled Curb	700	LF	21.00	14,700.00	18.65	13,055.00	18.00	<b>12,600.0</b> 0	18.80	13,160.00
4	Curb & Gutter	600	LF	17.00	10,200.00	13.70	8,220.00	17.00	<b>10,200.0</b> 0	14.40	8,640.00
5	Transition Rolled Curb to Standard Curb &										
	Gutter	2	EA	280.00	560.00	470.00	940.00	800.00	1,600.00	450.00	900.00
6	A.C. Berm	60	LF	8.50	510.00	9.50	<b>570.0</b> 0	8.50	510.00	11.55	693.00
7	3" A.C. on 10 1/2" A.B.	31000	SF	1.70	52,700.00	1.50	<b>46,500</b> .00	1.65	51,150.00	1.72	53,320.00
8	Concrete Cross Gutter	1	EA	1,780.00	1,780.00	2,360.00	2,360.00	1,850.00	1,850.00	2,150.00	2,150.00
9	Fire Hydrant Assembly	2	EA	2,100.00	4,200.00	3,070.00	6,140.00	3,700.00	7,400.00	3,800.00	7,600.00
10	8" Gate Valves	3	EA	700.00	2,100.00	800.00	2,400.00	1,000.00	3,000.00	790.00	2,370.00
11	8" Class 150 PVC	600	LF	15.00	9,000.00	30.20	18,120.00	24.00	14,400.00	23.00	13,800.00
12	Hot Tap Existing Main	1	EA	1,500.00	1,500.00	2,230.00	<b>2,230</b> .00	374.00	374.00	2,500.00	2,500.00
13	2" Water Service Assembly	5	EA	950.00	4,750.00	835.00	4,175.00	1,100.00	5,500.00	1,200.00	6,000.00
14	Standard Manhole	1	EA	2,500.00	2,500.00	4,050.00	4,050.00	3,300.00	3,300.00	3,760.00	3,760.00
15	Drop Manhole	1	EA	2,800.00	2,800.00	2,565.00	2,565.00	6,600.00	6,600.00	3,950.00	3,950.00
16	8" PVC Main	500	LF	19.00	9,500.00	30.36	15,180.00	45.00	22,500.00	40.00	20,000.00
17	6" Sewer Lateral	400	LF	17.00	6,800.00	15.10	6,040.00	17.00	6,800.00	28.00	11,200.00
18	Sewer Clean-out	5	EA	750.00	3,750.00	395.00	1,975.00	200.00	1,000.00	150.00	750.00
	BID TOTALS				144,380.00		154,040.00		177,284.00		187,133.00

### **BID SUMMARY** Construction of Vanderlip Court DPW Project No. 98-29

			R. BURKE CORP. SAN LUIS OBISPO, CA		
ITEM	DESCRIPTION	EST. QTY.	UNIT		
1	Mobilization	1	LS	8,200.00	8,200.00
2	Grading	700	CY	24.00	16,800.00
3	Rolled Curb	700	LF	20.00	14,000.00
4	Curb & Gutter	600	LF	20.00	12,000.00
5	Transition Rolled Curb to Standard Curb & Gutter	2	EA	500.00	1,000.00
6	A.C. Berm	60	LF	10.00	600.00
7	3" A.C. on 10 1/2" A.B.	31000	SF	1.70	52,700.00
8	Concrete Cross Gutter	1	EA	2,400.00	2,400.00
9	Fire Hydrant Assembly	2	EA	4,700.00	9,400.00
10	8" Gate Valves	3	EA	980.00	2,940.00
11	8" Class 150 PVC	600	LF	19.00	11,400.00
12	Hot Tap Existing Main	1	EA	3,450.00	3,450.00
13	2" Water Service Assembly	5	EA	980.00	4,900.00
14	Standard Manhole	1 1	EA	4,100.00	4,100.00
15	Drop Manhole	1	EA	8,200.00	8,200.00
16	8" PVC Main	500	LF	45.00	22,500.00
17	6" Sewer Lateral	400	LF	26.50	10,600.00
18	Sewer Clean-out	5	EA	1,080.00	5,400.00
	BID TOTALS				190,590.00